n ﬂ—a:(—l—«/é>+i(«/§—«/§)
y 0-a ~V3(V2 +1i)
_ 1+ VO +i(V3-V2) V2-i

V3(V2+i) V2-i

553
= —|— - =i
D) V3l2 2
= %{cos(—30°) + isin(=30°)}

Al@) Therfore,

—_, enlarge by the ratio of % — .
AO AB .. [OAB =30

(=30°)rotate

(2) Because A_D)J_A_O) , LBAD = 60°. Then,AABD is equilateral.

— —
AB — AD.
(—60°)rotate

Then,

v —a=(B—a){cos(—60°) + i sin(—60°)}

={-1- Vo) +i(V2- ﬁ)}(l_zﬁi)=—2+2«/§i

y=(=2+2V2i)+a=(V6-2)+i2V2+ V3)

(3) In AOAD , by maeans of Pythagoras’thorem,

D(y)

OA:AD:DO=V3:2:V7

Then, if we set ZAOD = 6,

sinf = i
V7
cosf = ﬁ
V7
Considering AOAD = AOED
—_, enlargeatthe ratio of 7@ N
oD OFE
6 rotate
3 3 3 2
5=yx V3 cost+ i sinf) = (V6-2)+i2V2 + V3)} i(i +i—)
V7 ViV 'V

_(=V6-12)+i(12V2 - V3)
- 7
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- ans.



